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Quiz 12
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You did not answer the question.

Express i sigma notaton.
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You did not answer the question.
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Question 3

You did not answer the question.
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You did not answer the guestion. =

Find the sum of the series

)
.7 sma s asd 2 < :gb

41

L7 5o bsthof them COnVEXRes

L
__1_'3.| Thus We cn SepardR_ TNIS suwm
Li,— W o sums,
30 ’
7

d)

40
o 21
Question 6
You did not answer the question.

Deternune whether the series converges or doerges
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Question 7
You did not answer the question,

Determine whether the series converges or diverges.
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You did not answer the question.
Determine whether the senes converges or diverges. ,
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Question 9
You did not answer the guestion.
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Determine whether the senes converges or diverges
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Question 11

You did not answer the guestion.

Determine whether the series canverges or diverges
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You did not answer the gquestion. [/ Pam

Deternmune whether the series converges absolutely. converges conditionally or diverges.
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Detertime whether the series converges absolwiely , converges conditionally or diverges.
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Detetimime w hether the serfes converges absolutely . converges cuudiliunully or diverges.
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You did not answer the guestion,
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Cuestion 24
You did not answer the questton.

Deternine whether the series converges absolutely, converges cond tionally or diverges
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